a)

b)

d)

e)

Umocnéte:
(x+2y)=
(2a—0,5b)* =

(-3x +y)=
(-2u-3v)* =

(0,1x —0,01y)* =
217=(20 +1)* =
39°=(40-1) =
RozloZte na soudin:
x> — 6x +9 =
a’—4b* =

l6x*— 1=
x*—0,0081y* =

42 +25b* —20ab =
x> H2xy +y* —z* =
(@ +b*—c?)?—4a’b’=
RozloZte na soudin:
kK —k=

ax —ay +bx —by =
ax +2bx—a—-2b=

y -2y 42y -2y +l =
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Vysledky

1) a)x*+4xy +4y%; b) 4a* —2ab + 0,25b%; ¢) 9x* — 6xy + y%; d) 4u’ + 12uv + 9v?;
€) 0,01x> — 0,002xy + 0,0001y?; f) 441; g) 1521

2) a)(x-3)45b)(a-2b).(a+2b);c)(2x—1).(2x +1).(@4x*+1);
d) (x - 0,3y) . (x + 0,3y) . (:C + 0,09y%): €) (2a — 5bY: f) (x +y —2) . (x+ y + 2);
g)(a—b-c).(a-b+c).(atb+c).(a+b-c)

3) a)k.(k—1).(k+1):b)(x—y).(@+b)c)(a+2b).(x—1);d) (y—1).(y>+1)
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